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3842-C
B.Com. (Third Year) Examination, 2018

BANKING AND BUSINESS ECONOMICS

(Business Mathematics)

Time : Three Hours
Maximum Marks : 100

PART - A (@ug-31) [Marks : 20
Answer all questions (50 words each)'.
All questions carry equal marks.
Tt W e ¥ | T T IR T v Y s T 8
[t 7 F 35 T ¥

PART - B (@uzg-7) [Marks : 50
Answer five questions (250 words each).
Selecting one from each unit. All questions carry equal marks, -
TAH T & Uh-Teh T I §U, F Ui 997 Hifow |
WeE W T ST 250 Vs | i 7 |
[t W & 3w THE §

PART - C (@vs-w) [Marks : 30
Answer any two questions (300 words each).
All questions carry equal marks.
I N W FIA | Tk W7 I 300 VS A A B
T3ty F ik wEHE F
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PART - A
(@us-37)
UNIT - 1
(3%TE-1)
1. (i)  Find the derivative of the function.
=1 e w1 sTaser d Shife |
Y=2x+x
(ii) Evaluate

FE whifeTg,

I(4x’ +3x2 —2x+ S) dx
UNIT - 11
(3wTE-11)

(iii) Define zero matrix.

¥ e F1 wftnfim Fif)
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(iv) If (3f%)

Zr J5 I 3
A=[_3 O:I and (317) BZ[S 2]

Find (I #If51Q) 2A + 3B.
UNIT - 11
(gT$-111 )
(v) Write two merits of graphical method of linear
programming,.
Tt Wt &t mitherer fafe @t @ 2 o fefiad )
(vi) Define unbounded solution,
FrEitfira aftoms =t aftnfia #5ifd
UNIT - IV
(FFE-1V)
(vii )" Write any two conditions of transportation problem.
e e # T Qv ) e
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( viii ) Define duality.
g =1 wfurfim ke
UNIT -V
(FhTE-V )
(ix) How many years it will take for money to be triple

when interest is compounded annually at 10%.

fret i =1 10% =+t < | farn €@ o fran g9a
SRl

(x) Find the amount of annuity of Rs. 7,000 payable at for
each year for 5 years if money is worth 5% per annum

compounded annually ?
9 TR 919 Hifa St wfaed 7,000 ., 5% Shad! =4S
F G/ 5 99 % fag g st

PART - B

(@Us-v)

UNIT -1

(3wTE-1)
2. Evaluate I HifsC

J' 1
Vox? ~1
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3. The total cost of a plant is given by
C(x)=20+2x+0.5x°
where C(x) is the total cost associated with the total output
X. Determine the average & marginal cost of the production.
T WAL I AN Fer e w9 A famr man ¥
C(x)=20+2x+0.5x"
SR C(x) 39 x ¥ Tafew $o ar@ 1 3a) 5 9
A S e R

UNIT - 11

(F=TE-11)
4. If (af®)
35 5 )
A=[2 7} and (31R) 32[4 —l]
FindmematrixCif(ﬂﬁﬂcmaﬁﬁquﬁ’)
2C=A+B
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5. Solve the following system of linear equations by matrix :

fr= wftereont =t Afee 1 e @ & Hife
3IX+4Y +5Z2=18
2X-Y+8Z=13

SX-2Y+T7Z=20

UNIT - ITI

(ghrE-111)
6. Solve graphically :
@A g & FHIAQ :
Maximize Z=6x, + 8x,
FHfteRan Fifey
Subjectby  30x, +20x, < jOO
wafw fem & 5x, + 10x, <110
X, %20
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7. Solve graphically :
i g & HIAC :
Minimize Z=2x, +x,
=T
Subject to 3, +x,=3.

wiafeh fem € 4x, +3x,26

UNIT - IV

(z=mE-1V)
8. Solve the following LPP by converting it into its dual :
Frfefead aw wurmm wren 91 gaar § wRafi =0 BT T

it
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Maximize Z=6x, +2x,

AR T

Subject to 4x, +x,<5

vafes G € 3x, +2x,<6
X, +X, <4

x,,x220

9. Solve the following transportation probiem :

foet wfteEs SHEN H & S
Warehouse Store Availability
W, 2 7 4 5
W, 3 3 1 8
W, 5 4 7 7
W, 1 6 2 14
ﬁequiremen1t i 9 18
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UNIT -V

(3@TE-V)
10. Rs. 5,000 is invested at the end of every month in an account
paying interest 10% per year compounded monthly. What is

the amount of annuity after 5* payment.

10% wfe = =sherd] =ar1 @l <X ¥ 5000 FY9 Wi HE % ofq o
w1 for = € 1 5 fopva % arg et et S @fi?

11. A man borrows Rs. 30,000 from bank at 8% compound interst.
At the end of every year he pays Rs. 7,000 at part repayment
of loan & interest. How much does he still owe to bank after

four such installments.

T =AfH 30,000 T 8% Tehadl S HI W ¥ FF A IUR
oA ® | 9% W& a9 % 37 7,000 9% 7w 3R = F w9 F
mm%lwmﬁmmﬁ%mm%ﬂﬂﬂ
w®M?
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PART - C
(Tus-¥)
UNIT - 1
(gT3-1)
12. Find the maximum & minimum of the function :

et & ifUshaR T8 =JAAH A1 6 R :
f;—xz +5x+3
UNIT - II
(gr-11)
13. Solve the following system of equations by using matrix inverse
method.
foet weftertor 1 Aifzer wfvew faft & we Ffs)
Ix+2y+z=0
-2x—5y+2z=8
X-y—z=-4
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UNIT - 11
(FehTg-1mm )
14. Solve graphically :
@i+ g & Hifog
Maximize Z=4x+3y
Hferras Hifsr
Subject to. 2x +y < 1,000
S G E x+y <800
x <400
y <700
X,y=0
UNIT - IV
(FoE-1v)
15. Solve the following linear programming :

" e s e @ e wif -
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Maximize Z = 5%, — 2%, + 3%,
Subject to 2%, +2x, - %3 22
3x,—4x,<3
Xy 3%, <5
X;, Xpy Xg 2 0
UNIT -V
(FFT3-V)

16. A owe.r B two sums of money : Rs. 3000 due in 2 years and
Rs. 18000 due in 5 years. If A wishes to pay off the total
debt now by a single payment, find how much should the
payment be if money is worth 8% compounded quarterly.
A3 B 3uR frg 3000 . 2 Wt % AL T 18,000 F. 5
w%mmﬁéﬂ A F SUR ! THEE HM e € @
<3 foaret Tfer SR St Srafs =S Y O 8% Sehadl o F

wew fermet # =1 Sl €
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